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'/Le,ijk-l' between 6O awd FO mches,

'De-’:ini‘]'iw: 'l'he Prblmlnil;'(')/ cle,nsi'l‘)/ ~r'uM.c'1'-'oo :F o-ﬂ a w-]—fmus
(‘cmo'm Va,rfa.\o\e. X is “‘& ~£ww-‘-~'c«\ u«a:l: Sadis ﬁ;'e,s?

b
5‘ F)dx = Plazxed)

Probability density function for the height of an adult female
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We QPF(‘OX-'ma:l’e i+ likce Le_—&re
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of idths Ax:
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Wa(‘n ?@ <

© AS Z#  iatecvals jo&S o 5 -HHS becoM&S

Reimann sum foc F(x- x,
'ﬂn.& mean o-p o PAf i ’s

= jw x - $(x) dx
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o 4 O
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When s :F a PJ# ?
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T 1 M2



Solutions  ©  Must have | = 3‘_: * 4t

= 1= Joeteat
- (e -et) (D
= /¢
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e PloLXe<)= §5 etys = Y Sy

X
/£ = j:" é . e~t - i ( ln‘l'eJC‘Q:&s'm br r)a,r%S)



De‘Fini+Img Le‘é X, Y ‘ae. ‘l‘loo :_oa-l-fmus raumdo m va.r(a.‘oles.
L X = L\e:’jk‘l’ , Y = o:je,
& ek of oS (aia"'s <X,Y) in P]M IRZ
114& a:oin‘l’ clens{+y 'Fu.nc‘l‘u'ov\ o'F X mi Y is J'lne.
bunction T that satisfies

PlaeXeb, eaVved) =-\YCAS: 4 dx d

Figure 7

o
pic'-‘-v.(e (-] The probability that X lies between ¢ and b and Y lies between ¢ and d is the volume that lies
above the rectangle D = [a, b] x [¢, d] and below the graph of the joint density function.
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D £=o

B SIS0 P dkdy = 4
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o) else

"For w\r\a.‘l' va.lu.e, C. isS :F o PJ:FD
What is P(Xe?, v%2)?
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So‘u‘l’n‘m.

i S‘OS‘:O Clx+2y) dy dy
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Definckion ® The X -mean is (exfcw"eé velue of X)

Mx = SS X Elx,p0) dA

The Y-mean s (- - ~Y)
S o= SS ¥ Elxy) dA
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) else

C,ompunle We e.xPec:(’eA values of X and V.
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= j( 2x® dx
= (3 x)\,
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